F12[a] IR IR~ AL — RN E2 020

HIH ¢ 2020411 A 1H (H) 2% RACTAB F—24(25m)
1/1

No. 58 BBF 50mFikE
< T5~79% > Baen 3004
IBhL B4 FriEBEF K& BF Ml #hEcER

1 gk 5ok Wk S S 1/ 6 48.57
No. 58 BBF 50mFik =
& 55~50% > Baen  are
B K4 FriEB&F5 JK & B R #FECE%

1 Y H = =Y. Yk 1/ 5 41.10
No. 58 EBF 50mFikE
& 50~54%% > Bain 00
IBhL B4 FriEBEF5 K& BF R #7ECEx

1 /NEPSE Bk - HHE 2/ 4 30. 38

2 /A — MTR 2/ 5 31.34

3 i EE 2bFISH 2/ 3 35. 61

4 R (i IS S 2/ 2 37. 34
No. 58 BBF 50mEjx=F
& A0~445% > Eann 7506
B K4 A ERS T KE& B R ek

1 58 INT5 B — % 3/ 5 31.05

2 JWRH A R e 2/ 6 35. 31
No. 58 BBF 50mEx F
< 35~30% > B
IBfI K4 FriEB&F5 K& BF R #FEC8%

1 FEIR ILE JOY—X 3/ 7 31.76

2 =2 F H= o) IR 3/ 2 32.15
No. 58 BBF 50mFik =
< 30~34% > e S
B K4 i B&F5 JK & BF Rl #FECE%

1 A8 fi A2 E 3/ 4 29. 69
No. 58 BBF 50mFikE
< 25~208% > ey S
IBhL B4 FriEBEF5 K& BF R #7ECEx

e #iE (EPN I 3/ 6 29.87

2 HE Wl VX)) U T 3/ 3 31.87

3 AN By T ZARBDE 3/ 1 33. 87
No.58 BF 50mEk = e
L 18~241% > AARE 2.2
B K4 i B& ¥ 7K & BF B #rEcEx

1 HEE BHOsS s 4/ 4 27. 61

2 ‘BiF & (EPNE Il 4/ 2 30.78

3 bR & (EPNE Il 4/ 3 31.40

4 5 F—ER Lo AR 4/ 5 31.79

5 ARIfiE Kk (EPNE I 4/ 7 32.18

6 A0 i VX )U < 4/ 6 32. 31

7 L% % (EPN I 4/ 1 37.217

HAHBE: 11H1H 15:05



